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3OHDVH�ILOO�RXW�WKLV�IRUP�WR�EH�D�9):�$X[�3RVW�������6SRQVRU��6SRQVRUVKLS�HQWLWOHV�\RX�WR��
\RXU�&RPSDQ\�ORJR�RQ�WKH�IURQWSDJH�RI�9):$X[������RUJ�ZHEVLWH��<RX�ZLOO�DOVR�KDYH�D�
GHGLFDWHG�SDJH�DQG�WKH�DELOLW\�WR�HGLW�WKH�FRQWHQW�RQ�WKH�SDJH������DQG�DV�RIWHQ�DV�\RX�OLNH�
XVLQJ�\RXU�RZQ�ORJLQ�FUHGHQWLDOV��7KH�$X[LOLDU\�ZLOO�FRQWDFW�\RX�WR�VHW�XS�\RXU�ZHEVLWH���
)HHO�IUHH�WR�FRQWDFW�KHU�IRU�TXHVWLRQV�� 
3OHDVH�HPDLO�\RXU�IRUP�WR�YIZDX[�����#JPDLO�FRP� 
3OHDVH�PDNH�FKHFNV�RXW�WR��9):�$X[LOLDU\�3RVW������� 
0DLO�WR�30%���������6(��WK�6WUHHW�0DGUDV��25������ 
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&RPSDQ\�,QGXVWU\  

&UHGLW�&DUG�$XWKRUL]DWLRQ 

,�DXWKRUL]H�9):�$X[LOLDU\�3RVW�������WR�FKDUJH�P\�FUHGLW�FDUG������IRU�VSRQVRUVKLS���,�DJUHH�WKDW�WKH�
�����LV�D�GRQDWLRQ�DQG�QRQ-�UHIXQGDEOH���9):�$X[LOLDU\�UHVHUYHV�WKH�ULJKW�WR�HGLW�RU�UHPRYH�DQ\�DGYHU�
WLVHPHQW�WKDW�LV�QRW�LQ�OLQH�ZLWK�RXU�RUJDQL]DWLRQV�UHJXODWLRQV�DQG�VWDQGDUGV� 
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